

حاصل عبارت‌های زیر را به دست آورید. 

الف) $(3\frac{1}{3} - 1\frac{1}{2}) \div (\frac{1}{6} + \frac{4}{9}) =$

ب) $\frac{7}{10} \div (\frac{7}{4} + 2\frac{1}{3}) =$

پ) $(2\frac{1}{3} - 1\frac{3}{8}) \times (5\frac{1}{14} + 2\frac{3}{8}) =$

ت) $(\frac{5}{18} + \frac{1}{24}) \div (\frac{8}{9} - \frac{1}{12}) =$



حاصل عبارت‌های زیر را به دست آورید.

$$\text{الف) } 5 + \frac{1}{5 - \frac{1}{5 - 4}} =$$

$$\text{ب) } \left(1 - \frac{1}{1 + \frac{1}{1 + \frac{2}{3}}} \right) \div \frac{3}{4} =$$

$$\text{پ) } \frac{13 - 2\frac{3}{4}}{\frac{15}{4} - \left(\frac{2}{7} \times \frac{14}{3} \right)} =$$

...